
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze negative di dieci

4445, 9 × 0.0001 = ________ 7552, 6 × 0.01 = ________

7539 × 0.001 = ________ 4204, 1 × 0.0001 = ________

7972 × 0.01 = ________ 8474 × 0.0001 = ________

8951, 5 × 0.01 = ________ 4828, 5 × 0.1 = ________

4435, 7 × 0.01 = ________ 3998, 6 × 0.001 = ________

6288, 2 × 0.01 = ________ 8688, 8 × 0.1 = ________

3410, 9 × 0.0001 = ________ 9700, 6 × 0.001 = ________

1458, 4 × 0.01 = ________ 1214, 1 × 0.1 = ________

7550 × 0.001 = ________ 7576, 2 × 0.01 = ________

2640, 3 × 0.001 = ________ 4264, 8 × 0.0001 = ________
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze negative di dieci

4445, 9 × 0.0001 = 0.44459 7552, 6 × 0.01 = 75.526

7539 × 0.001 = 7.539 4204, 1 × 0.0001 = 0.42041

7972 × 0.01 = 79.72 8474 × 0.0001 = 0.8474

8951, 5 × 0.01 = 89.515 4828, 5 × 0.1 = 482.85

4435, 7 × 0.01 = 44.357 3998, 6 × 0.001 = 3.9986

6288, 2 × 0.01 = 62.882 8688, 8 × 0.1 = 868.88

3410, 9 × 0.0001 = 0.34109 9700, 6 × 0.001 = 9.7006

1458, 4 × 0.01 = 14.584 1214, 1 × 0.1 = 121.41

7550 × 0.001 = 7.55 7576, 2 × 0.01 = 75.762

2640, 3 × 0.001 = 2.6403 4264, 8 × 0.0001 = 0.42648
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